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-IEEERE3 32,755,000& x1.5% 492
MHEERE S 32,755,000& x0.9% 295
- UAHALEERLE S 32,755,000 *3.06% 1,003
—LOIEDIRYEEEESZ  1,003,000& *6.55% 66
-E&0 10,0003 x1H «143| «12& 1,680
|22 (BM DS D) 77,800 75,140 2,660
Jl2dy (EM =) 77,800 75,140 2,660
201 L2l 18,900 18,960 AB0
01 At 22l 17,700 17,760 A 60
ORA2III28Hl 35,0003 x15H 128 6,300
ORMIIEgR+8d SAH|
8,000 & x15H 541« 128 7,200
OZgH ElYH 350, 0003 *4JH 33| 4,200
02 3322l 1,200 1,200 0
OSAMIl & EHIKXHI 200,000& 63 1,200
202 oddl 50,400 52,080 A 1,680
01 = LH o4 1l 50,400 52,080 A 1,680
OJlegs® =d s2Z0l
20,000 *15H x143|x12& 50,400
203 YR =2t 3,000 3,000 0
04 FN2IELSFAH 3,000 3,000 0
ORAN2EIRFEHI 250,000& 128 3,000
405 THebH S| 5,500 1,100 4,400
01 AL 2 S FH S| 5,500 1,100 4,400
OdX=AI 2 5,500,000 = 1CH 5,500




